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II Year (T.D.C.) Science Examina‘tion, 2016
STATISTICS
(Applied Statistics)
Paper—II1
Time Allowed : Three Hours

Maximum Marks : 50 .

PART-A (@UE-37) [Marks : 10
Answer all questions (50 words each).

All questions carry equal marks.
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PART-B (@Us-9) [Marks : 25

Answer five questions (250 words each), selecting one

from each Unit. All questions carry equal marks.
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PART-C (@Us-9) [Marks : 15
Answer any two questions (300 words each).

All questions carry equal marks.
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(TUE-37)

: il (i) Write down the equation of the Parabolic

curve.
WEd 9% 1 g fafeg)

(11) Give the normal equations for the fitting of

Exponential curve.

=R T Tk AESH B AT YHERE gHE
fafeEm)

(ii1) Define Karl Pearson coefficient of correlation.

#e e & dewmrw o @ gRewfa
HifsIq|

(iv) If bvx >1, then write the limits of bxy.

R b, >1, W b, W WA fafey
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(v) What are the limits of a Multiple correlation

coefficient ?
T agHEEEY e @ WA w82

(vi) What is the relation between Simple correlation
coefficient Ij, and Multiple correlation

: 9
coefficient R1.23 7
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(Vii)‘ Define Time series.
FTE U HI giewfyd sifsal

(viii) Write any two methods of obtaining Seasonal

variations. ;
et Frerol = Freerd @ W @ faf @
EGNIE
(ix) Define Index number.
qeiE W R S
(x) Give the formula for Flisher’s price index

number.

sk % o gosie &1 §F fafeul
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PART-B
(TUeE-v)
UNIT-I

($TE-1)

2. Write down the procedure of Fitting of second degree
parabola by the method of Least squares.

waﬁ%ﬁ:mﬁmm%wﬁ%ﬁx
1 FUE HifSUl

3. Find most plausible solution of X and Y from the
following equations :
X—-08y+4 =0
2x -3y +56 =0
X +2y~8'= 0
4x + 3y + 1 = 0.

= Tl @ X9 v % gaiftus suge w9 99
| |[ :

X -8y +4 =

0
2x -3y +5 =0
X +2y—-3 = 0
0

4 + 3y + 1 =
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UNIT-II

(ZhTE-11)

Prove that :
Corr.
_1S(x, ) <+1.
Corr.
-1< (X(:I;) <+1.

Explain the concept of Regression in detail.

FfFEE seuRon w1 famR ¥ sren s
UNIT-III

(geRTE-111 )

Fit a plane of regression of X; on X, and X
UfFET = x, F x, 3R x, W A FHifT

In a Trivariate distribution :

Gy = 2, Gy = 63 = 3, I‘12 = 0.7, I‘23 = 1‘31 = 0.5, find b12_3
and by,

T = d9e7 o .

Td [ b12.3 a= b13.2.
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UNIT-1V

(g=T3-1V )

Describe, how would you find out the trend value in
a time series by the method of least squares. Illustrate

your answer by a numerical example.

Waﬁﬁaﬁzmmmﬁ{m%@éﬁﬁ?
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Write a note on Seasonal variation.

B SeaEEAl W T feoqut fafeal
UNIT-V

(THE-V)

Show that Fisher’s index number satisfies Time
reversal test and Factor reversal test.

fag =ifvy fo IR goeis @99 Sopadl 9 T
Ioraal TAET H WgE wl <

(a) Describe Consumer price index number.

(b) What is Base shifting ? Explain it.

(a) SYUE HSA HahIk h THAGT

(b) SR UfEds =1 ©7 A& wifwdl
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PART-C
(@ue-¥H)
12. Write down the procedure of fitting of straight line
Y = a + bx by the method of Least square.
=t fafy =1 avfv =ifswy

13. In a partially destroyed laboratory record of an analysis
of correlation data the following results only are

legible :
Variance of x = 9
Regression equations :
8x — 10y + 66 = 0 and 40x — 18y = 214, what are :
(1) The mean value of x and y?
(i1) Correlation Coefficient between x and y?
(ii1) The Standard deviation of y? ;
T S TY § TR YEIETEl ® 959 9 o
faremw sifverg & @ saa e oo @ @ ©
X hl HEUT = 9
JiTET e 8x — 10y + 66 = 0 3R 40x — 18y = 214,
39 IAT % YR W) eI F1d SISy
() x SR y & == Toa;
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14.

15.

16.

Gi) x 3X y & &9 TWea=-y oSl

(iii) y =1 gar9 foa=e |

Prove that for a Trivariate distribution :

: 2 2
R Tio + Ti3 — 2739 T3 Tog
123+ 1 2 '
— Xo3

w Frer ¥ = fou fag =ive i

2
R2 rio + iz — 2rjg Ti3 Ta3

223 G 2

What do you mean by Time series ? Explain the

various components of Time series.

e SO B W § o9 W WHeW™ 22 Wi Sl &%
fgfag=y Tehi & 9 H FHESRU '

Define Index numer. Describe the various problems

faced in the construction of an Index number.

:ﬁmﬁqﬁﬂmﬁmlw'ﬁﬁmﬁaﬁ
et fafa= Taemet w1 faa=m wifsml
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